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int a[10];

int balances[11][6];
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loc(x[i]): a+G-D)xw x[1..u]
loc(x[i, j1): a+[(—1L)x(u, =1, +1)+(j—1,)]xw o' [
loc(x[i, j,k]):
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a+[i—-L)x(@u,—-L,+1)+(-1)]xw

10+[(1-0)x 4+ (2—0)]x8 =58
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A[3][4]

10+[(1-0)x4+(2-0)]x8 =58
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a+[(i-1))x@,—L+D)x@,-L+D)+(G-L)x(u, =L +)+(k-1L)]xw

0+[B-0)x10x5+(4-0)x5+(2-0)]x2
=0+[150+20+2]x2=344
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seqsearch (a[ ], n, x)

{
for(i=0;i<=n-1;i++)
if (a[i] == x)
return i;
return -1 ;
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bsearch(a[ ], x, low , high){
while (low <= high)
{
mid = (low + high) / 2 ;
if ( x < a[mid])
high = mid-1 ;
else
if ( x > a[mid] )
low = mid+1 ;
else return mid ;

b

return -1 ;
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bsearch (a[ ], x, low, high ){

if (low <=high )
{
mid = ( low+high ) / 2;
if ( x < a[mid] )
bsearch( a, x, low, mid-1 );
else if ( x > a[mid] )
bsearch (a, x , mid+1, high );
else
return mid;

b
return -1; }
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insert(a[], m, k, x)

]

for(i=m-1;i>=k;i-) ‘
ali+1] = a[i];

alk] = x;

b
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delete(a[],n, k, x)
%

x = a[k];

for(i=k;i<n;i++)

ali] = a[i+1];
ali] = 0;
return(x);
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